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910 4ada EXERCISES (1.1) owtida
st 4 11

In Exercises 1-3, list all elements in the following sets using set notation .
de ganall 3oy Loddiee 45Y1 Cile ganall (& jualiall JS ST 3 -1 el
1. Vowels in the English alphabet
4l a1 A AS aidl Cag all
Vowels in the English alphabet = {a,e,i,0,u}

1
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2.First seven prime numbers
@ji J\.J.Gi :\.a..h.n d}i

dudi 2aal) g2 e AT 2ae Lﬁiujci\.uélld@‘i}1 22l e I naturalwbsqs}g‘ég;j\md\
J;‘JJ.J&M}

First seven prime numbers ={2,3,5,7,11,13,17}
3. Even integers between 50 and 63
63 550 o ) Aan 53 Aapaall slacY)

Even integers between 50 and 63 = {52,54,56,58,60,62}

In Exercises 4 — 13 answer by True or False
(F) W 5i(T) s nl 13-4 ol 3
4.0eN F 5.QcRT 6. 1eR F 7.QcZ F
N Zmplall e Y1 de gone jualic (g T uaie ad Jia 23l (Y Uad 4 48 o il
R@;&Q\a\x‘i\kww@}hwg@Q w\a\mY\thYPSeﬁ)wfﬂ\

d R palic (e T paic cud (rrational ) | sl e dac¥) de sana (¥ Uad 6 a8 0l
R (e 4 s Ac gana A

Z dassiall slae Yl A sane (e 4 0a A gane il Q Aasaill dae Yl de gene oY Uad 7 485 oy il
C‘..‘*“MJAU’“S’J\LL

8. {222}={2} T 9.{1,23}={3,1,2} T 10.1={1} F
11. 1<{1,2} F
Ol shasia Lagh I 2 23all g g L nl 5 jemie (5 583 (i ganall (30 S (Y e 8 5 (o yal
o Y ealial) Cusi iy yualiall (udl (5 585 (e genal) o IS Y a9 a8 all
1 23ad) (5 a3 Sl de ganall (sl ¥ 1 22al) Y Uad 10 &) )

Cle sanall G 0585 (G0 A Ao sane ) C ABall 5 de sene Gl 1 20all O Und 11 85 (el
sets

12. {(1}e{1,2} F 13. {(3c{12} T

Ao ganay puaie Gu 0585 s (e sane O 0S5 Y € Al Y Uad 12 48,5 g el



{1,2} dc sandll o SUDSEE Aisa de gane A {1} 4o gead) (Y e 13 &8 el

In exercises 14 — 22 identify the elements in each set . assuming
A={w,x,y,z} ,B={x,y},C={x,y,z} And D = {z}
Ol U2k . Ae sena JS 8 jualiall saa 22 — 14 )l 8
D={z}sA={w,x,y,z} ,B={x,y},C={x,y,2}
14 . AuB={w, x,y, z} 15. AnB= {x, y} 16 . BnC={x,y }
17 .. BAD={ }=® 18 . BUD= {x,y, z}
19 . Bn(CuD) = BN{x, y, z} = {x, v}
20 . (AnC) u D= {x,y,z} U {z}={x,y, 2z}
21 .Bu® =B = {x,y} 22.Cnd =0

L 5l B desenall sl A desanall 3 ) jealial)l mues de sana i AUB o BaY
bl ) S (5 (S5 Gre

B dcsenall b gl udi by A de ganall A ) paliadl pen de saae 3 ANB Ol

)@cgigjai‘!g,ﬂ\ggi@&\&cw\@g {} }j CDQ‘.E;‘!
23. Put a check mark in each box if the number is an element of that set

3«0 4 2l | Natural | Integer | Rational | Irrational | Real

2 v v y

u|w




NG} N N
0.35 v \
0 v v
6
-2 V v \
0.25481931... v \
0.262626... N N
0
Vi6 v \ \ \
V=1

24 . Determine if the statement is True or False
(F)abla of (T ) dagsa s lell il 1)) 2as
a) Any natural number is an integer T
b) Any integer is a rational number T
c) A real number can be only irrational F
d) A terminating decimal is an irrational number F
e)2=0 T

f) A rational number can be either a terminating decimal or non-
terminating decimal with a repeating pattern T



25. List the elements of the set of even integers between -4 and 8.

the set of even integers between -4 and 8 ={-2,0,2,4,6 }

26. List the elements of the set of all natural numbers that are multiples of 5.
the set of all natural numbers that are multiples of 5 = {5,10,15,20,... }

27. Write the set of the even natural numbers .

the set of the even natural numbers = {2,4,6,... }

28. Determine if v—9 is a real number or not.

V=9 is not a real number

In exercises 29 — 35 perform the indicated operations.

(ol ddae ad ddaiil) Lia ) soasall Cllead) 5500 35 — 29 o kel b

29 £+E :4_5 +£:2+E :20+14 :ﬁ
7 5 7.5 5.7 35 35 35 35
1 3 2 3 2.5 3.3 10 9 10-9 1
30.22-2=2.3 222 33 10 5% 1099 _1
3 5 3 5 3.5 5.3 15 15 15 15
= 4 33 4.33 132
11 —_ . —
31, &L = = === = =2
— 11 7 11.7 77

2
ks

[

15
4

33.-6-.2 =.
4 5

34. 5[ (6+3.2)-2(8-5)]= 5[ 6+6-2(3)]=5[12-6]=5.6=30

30
[6—(=4)]

30

35. -(41-7.4)+ 12 = -(41-28) + = .12 = -13+ = - 12=
6+4 10

=-25+3=-22



20 4adw EXERCISES (1.2) i da
sty b

-

In Exercises 1 — 9 simplify and express answers using positive exponents
only

L8 L gal) ) a3l sl o e gl 9 — 1 Cpolall
1. xX°x% = x>2=x3
2. (6x3)(4x")(x°)=24x3" "= 24x°

1/5+4/5 1_

3. y1/5 . y4/5 =y — y5/5 =yl=y

4(49 a.4 b-2)1/2 — (7.7)1/2(a4)1/2(b-2)1/2 — 7a4/2 b-2/2 — 7a2b-1 — %‘2

S. (ZY)(3y2)(5y-4) =(2.3.5) y1+2'4 = 30y'1: ?
2
x4yl x42y,—12 By=2 12
6. —}2/ 3 —22] 3.2 _j] 6= 38
X y X . y . X y y
_1 1 1 1 2
4x72\7Z  472xTPTZ 4Tz2x2 xy?  xy?
7 = - _
4 - 1 = — = —7 =
y y4.—§ y_i 43 2
1
— a2
2 XY



1 1 1
25x°y~1 \2 B 25 x° x3y 1y 7_ 25x8y* \2
16x3y=5 ) 16 B 16

18 4
252x2y2 5 x*y? 5 .,
— — = —X y
1 4 4
162
—9x2

(2 —4 (2.2 _
9. —3(x*+3)"*(3x*) = T

In Exercises 10- 13 .illustrate common errors involving rational exponent.
In each case ,find numerical example that show the left side is not

equal to the right side.

1
10. (x34+ y3)3 =x+y

1
x2_|_ 25
11, ¢ Y +1,x+y #0
xX+y
1 1
12. (x+y)3 #—= ,x+y #0

(x+y)3 '’

13. Vx2 #x



Jlie aa ol Alla S g, Al a1 (g 5a3 () 5 AS Jilial) oUadY) a3 13 — 10 el b
¥l cailall (g b ¥ ) cailall ) i gy 220

oo sl a0 A GanlL e sl e ) Gl i 8 12 511 510 ool AS jisiall eUady)
ok o e clilee Gl Jaly L Gl Alla b e ye 13

ol (1+1)P=2M=32 Vsl o x=1,y=1 : 10 gl Jb
1+1=2

(4S5 ol A ) (g gl Al ) el uilall S8 x=-3,y =4 1 11 Gaeill Jbe
3+4=1 V5 (9+16)"2=25"=5

oVl (1+1)M=2M=32 Lu¥clall o x=1,y=1 :12 gl Qe

13 Lol dagma 5 5lealld Cam e 200 CulS 13 6l ol an g dae X Jb 98 13 Gl 8 Ul
Aakala 35l b 2ae CwilS

-3 ool ) (23) TV =3 el sl 088 x=-3 e

In exercises 14 — 17 write in the simplest form.

14.x. 357y =x. 335 . Va7 . Yy =x. V335 Vxxs Yyy5y®

= x(3xyy)V3 . Va2 5[y = 3% y* /3x2y

15. 2a.1/8a%b12 = 2a . [ (2)*(@%°3(b*%*® = 2a.(2a®v*) = 4a*b?

. 1 5 12 8 5753
16 V32ulzp® (250208 )5 25uswsS  2uSuSvsvSs
) uv u.v uv uv
Z E 7 3 5 2 3
2UU5v vs5 L = 2 2 2 5
— = 2usvs =  2usus vs = 2uvVu?v3



17. 2x2y* . Y4xSy = 2x%y*4xSy = /8x7y"

= Y23 x8 xy? y2 = 2x%y Yxy?

Qusl & 27 dada (1.3) Cpla

In Exercises 1 — 7 reduce answer to the simplest form

5 sl A Glgal) (uaid) o ) JB 5 i 7 -1 o) Ll B

b? b? a b2 a a a a a
2a " a?|'3b | za  bZ| "3  2'3b  6b
x?-1 x+1 _ x?-1 x%-4 _ (x-1)(x+1) (x-2)(x+2) _
"x2+2  x2—-4  x2+42 " x+1 x2+2 x4+l -
(x—1)(x—-2)(x+2)
X242



10

1=12%2 ,4=2% ,,, a*—b?=(a—b)(a+b)~iY

5 x+2  x=2 (x+2)(x—1)2=(x—2)(x?-1)
"x2-1 (x=1)2 (x2-1)(x—1)2
_ (x+2)(x—1)(x—1) —(x—2)(x—1)(x+1)
B (x2-1)(x—1)(x—1)
_ (e+2)(x-1) —(x—2) (x+1) _ x24x-2—(x%-x-2)
- (x2-1) (x~1) (-1 (x-1)
_ x%4x—2-x%+x+2
(x%2-1) (x-1)
_ 2x _ 2x _ 2x
(x2-1) (x-1)  (x-DE+D(x-1)  (x—1)2(x+1)
6.
4x n 3 2 4x+3(x—y)—-2(x+y) _ 4x+3x-3y—-2x-2y
x2— y2 x+y x—y - x2—y2 - x2—y2
5x-5y 5(x-y) _ 5
xX2—y2  (x-y)(x+y)  x+y
%2 x2_y?2
7 y_2_1 _ yz _ xz_yz y _ (x—y)(x+y) — xX=y
2 Xy y2  x+y y(x+y) y

10



11

In exercises 8 — 15 reduce each fraction to the
simplest form.

S S (mai] Fay ) p=id) 5l JB 15— 8 kel

5 g Sl )
g 6% (x2+2)" - 2x(x2+2)° _ 2x(x?+2)"(3x%- (x%42)} _
2(x2+2)*{3x2— x2-2)
o o2(x2+2)Y2x2-2)  a(x%+2)°(x2-1)
o x3 o x3
2x(1-3x)3+ 9x%(1-3x)% _ x(1-3x)%{2(1-3x)+9x} _
(1-3x)6 - (1-3x)° B
x{2—-6x+9x} _ x(2+3x)
(1-3x)*  (1-3x)*
10.

[ r*-1y O*+y)y  OP+nGP-1)

1
y2+y y2-1 Yy 024+0)2-1y  Z+(2-1y  @2+y)(y2-1y

_ Yoy oy eyt -y eyt y oyt -yt
*+»G?* - Dy 0 +»»?* - Dy
-y’ +y)  —y

2+ yE-1y y2-1
11



12

11 x+1 xZ-2x+1 _ x+1 (x-1)2 1
"x(1-x) T x2-1  —x(x-1) “(x-D(x+1) x
x3—y3 y  x2+xy+y?
12 v y-x | y?
=Pty +y?) oy y?
y3 y—x x%+xy+y?
— xX—=y — —(y—x) — 1
y—x y—x

x3— 3 =(x—y)(x?+xy+y?) o~V

13 3 L4 3x+D)-(x=2)  (x+4)
) xX—2 x+1 ’ x+4 - (x—Z)(x+1) - 4
3x+3—x+2  (x+4) _ (2x+5)(x+4) _ _

T (x=2)(x+1) T 4 a(x=-2)(x+1)

12



14 y_y—x . y—Xx _ J/(y_x)_yz yz_xz
CopXE yRexex? oy T 2
y2_ %2 y2_ %2
Y yx—y? yP—x?  —xy(y—x)(y +x)
y—x y? y2(y —x)
_ —xy(y +x)
y2
_ X+ )
y
1 1 1
15, 1-— =1- = 1- —
1—i 1- 1 1- =
=1y ==1-—=1-"=1+x-1=x
x—1 x—1 -1
b _ ,b_1 .y
- = 1l.-=g
d d B

13

y y(y—x)—y?

13
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937 4aia EXERCISES (1.4) ks
sl 2 38

In exercises 1-4 find the values of x and y
where x and y are real numbers , that satisfy
the given equation.

Placl y sx Cus y sX af sl 4 — 1 cplalll
Uanall Alalaal 8 3l 5 Adiin

1.4+(2y)i=x—-2i , x=4,2y=-2, y=-2/2=-1

2. 2x—16i=10+ 4yi ,2x=10,x===5,

~16=4y ,y=—""= —4

3.2yi=x+12i,x=0 ,2y=12,y=—=6

4.8—yi=2x—4i,8=2x,x="=4 ,—y=—4,

y =4

In Exercises 5 — 11 write each complex
number in the standard form a+bi and clearly
identify the values of a and b

14



15

Al @l dapall 8 S ye e 8 xS 11 — 5 ookl A

2++V=25 2 V25 1 5

5. = S+ =i =+ 5
4 47 4 2" 4

1

~Z b=

| Ul

a =

124+/=200 12 V100V2 . 3 10V2 . 3
6'T=?+ 5 l=E+Tl=E+

5V2 . 3 5v2
a=; b=

6—vV-72 6 72 3 ./2(36) .
Ty T T et
3 62 3 32
27 g ‘T2t

2
3v2
2
8 14 ++v-98 14 +i/2(49) 14+ 7V2 i
' 8 B 8 B

8
7V2 i 7 72
4

+ ) a=
8

S



8+vV—-27 8+\/27__ 4+\/§«/§,
6 6 6 3 6 °
_4+3\/§,_ 4+\/§, 4
377 " T 372 4T3
V3
h=—
2
o Y736 V49 60 7i _ 42i
V=16 4 4
—o+ 2, _ 0 2
= b a=0, =
. v=25 5 _ 5i  5i
' J—16vV—81 4i.9i 36i2 36(—1)
=0—%l ,a=0,b=—%

In exercises 12 — 29 perform each of the
following operations and write your answer in
standard form

16
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AoV clleall e JS ) yaliad 29 — 12 el 3
Al i) 8 Gl ga S

12. (2+30)+(-5-1) = 2+3i-5-i = (2-5)+(3i-i) = -3 +2i

13. (3-2i)+(5+2i) = (3+5)+(-2i+2i) = 8+0i=8

14. (4-5i)-(2+3i) = 4-5i-2-3i = 2-8i

3 2 3 2
15 8+—i —7+—i =8—7+(Z+§)i

4 3
L 9f8 17
= 12 * T Tt

16,34 S+ 11 7'—3+11+(3 7)'
' 5" 15~ 5 15)°

—14+(9 7)'—14+2'
= 15 15/t 7 15"

17. (3).(=5i) = —15i2 = —15(-1) =15 = 15 +
0i

17



18

18. (=5i).(=7i) = 35i? = 35(—1) = =35
= —35+0i

19. 3(2 —3i) = 6 — 9i

20. —3i(7 +5i) = —21i — 15i2 = —21i —
15(=1) = —21i + 15 = 15 — 21i

2= -1 o5 Y

21. (=3 +2)(2+3i) = —3(2+3i) + 2i(2 + 3i) =
—6—-9i+4i+6i>2=—-6—-5i—6=—12—5i

22. (54 )(=7—=3i) = —35—15i — 7i — 3i2
= —35—15{—7i+3 = —32—22i

23 (1+1')<1+2')—1+2'+1'+1'2
' N AVEEN R AR
_1,2. 1.1
— 273 Tyl T3



24. 3-WZ)(3+iV2) =32+ (V2) =9 +2
=11

(a + bi)(a — bi) = a* + b*> conjugate 5 Y
8 ) duals

25.(2 —V—=4)(3—V=16) = (2 — 2i)(3 — 4i)
=6—8i—6i+8i*=

6—14i —8 = —2 —14i

26. (-3 +v-25)(8 —V-36)
= (—3 + 5i)(8 — 6i)
= —24 4+ 18i + 40i — 30i?
= —24 4+ 58i + 30 = 6 + 58i

27. 2 +30)2 =2 +3)(2+3i) =4+ 12i + 9i?
=4+12i—9=-5+12i

19



20

2 2
28. (3+iV2) =32+ 6V2i+ (iV2)
= 9+6V2i+2i2=9+6V2i—2
=7+ 6V2i

29.i2-13)=2i—i*=2i—1=-1+2i

i?=-1,i*. *?’=(-D-1D=1,i*=1,
20 =(i*)>*=(1)° =1,

In Exercises 30 — 36 write in standard
form

dxpall 8 S 36 — 30 cuoladll

-3 -3 -3 -3i -3i 3
30 _— = = — = - = = —1
—64 V64  8i 8iz -8 8

3

=0+i

8

20



31.

32.

33.

34.

3

21

3(1 = 30)

3—9i

1+3i (1+30)(1-30) 149
9i

10

3
10

2+3i  (2+3)i 2i-3 2 3

3i

2

3i?

2

1— 2
3l

2

-3

-3 -3

2(1 + 50)

1_+v—25 1-5i (1-5)(+50)
2 +10i

1+ 25

3—2i

2

10

26 T 26"

(3 —2i)(—6 —4i)

—6+4i (—6+4i)(—6—4i)

—18 — 12i + 12i + 8i?

21

1

5

—+—i

13

13

—18 -3

52
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—4+8i  (—4+8)(2+40)
2—4i  (2-4D2 +40)
—8+16i — 16i + 32i® —8—132

35.

4+ 16 20

= W= —2 4+ 0i

—4+60  (—4+60)(2—70)
2471 (+7)Q-70)
—8 + 28i + 12i — 42i*

4 + 49
~8+40i+42 _ 34 40

53 53 53

In exercises 37 — 41 ,evaluate
) 41 — 37 ookl G

37 ;79 i76.i3 = (i9)19.13 = (1)19.i3 = {3
=[(“.1l=—1

adls 4 338) e LS G S 1Y Ll e g sl 138 e b
Sl Gl s lall 5 4 e ey

22
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(11 18.i3 i3 2.1
—i~1
39, 14 =12 j2 = j2 = 1
40. %3 =203 =3 = —j
41, i~° 1 1 1
l = — = = —= = — = —
R I X [2 —1
42. show that
Ol ==

a. z +3i=z-3i

B8 e + Js¥) 38 e (5 s paall Juals 38 0 () a1 Y

LF'MM

Let z=a+bi , w=c+di

Z+w = atbi+c+di = (a+c)+(b+d)i=(a+c)-(b+d)i = a+tc-

bi-di=a-bi + c-di

23



24

—athi+c+tdi =z+w

Z +3i= 7z +0+3i =z2+0—-3i=z — 3i
andi 2aall g 3l B3l pe i Y
b. iz =-iz

Let z= a+bi

i(a+bi) = ai+bi® =ai—b=-b+ai=-b—ai=(-1)b -
ai = i%. b — ai

—i(b—a)=-i(-ib+a)=-i(a=bi)=-iz

I©=-1 G..m\]

c. (2-)°=(2-)2-)=4-4i+i°=4—-4i—-1=3-4i
=3+ 4i

24
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43.letz,=4-31 ,z,=5-31 ,z3=-21 ,find
mgl 2,=4-3i ,2,=5-31 ,z3=-2i s

a. Re(z;) =4,Im(z,) = -3,
Re(z,.z,) = Re[ (4 —3i)(5 — 3i)]
— Re[ 20 — 15i — 12i + 9i?]
— Re[20 — 27i — 9] = Re[11 — 27i] = 11

b.z,—z,=(4—-30)—-(5-3])=4—-3i—5+3i
= —1=-1+0i

zy  4-3i  (4-30)(+30)

“ 2 5-3i  (5-=30(5+3i)
_20-15i+12i—9i>  20-3i+9
B 254+ 9 B 34
29 3
34 34

d(z) = (-2)71= =22 _ “Z_

R 1 - T _2i | —2i-2i aiz

2= =041

—4 2 2

25
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e. 3i3% — (z3)% = 3i3%.i% — (=2i)3
= 3(1)i?— (-8i3) = —3 + 8i?i
= —3—(8i) = —3 —8i

f. 7.2, =(4—3i)(4+3i)=16+9 =25+ 0i

an I an S ) sy
e Al g 53all g Craallad iy Al aal)
o220 140 Loadl G olai da
precalculus

Chapter 2

JWM\Z\M@QJL&A'A\J“UDM\QM; Cp Al e 3 alac)
((2eliia Y15 Gl

26
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In Exercises 1—11 solve each of the following equations and

check your answer.

g e (i ) Sl AV AValad) e IS da 11— 1 ekl

1. 5x =3x— (1 - 3x)
o sill i 9

5x=3x—-1+ 3x
Uil 5 L) Afu Ladie gl

o=l ) X e Lt JLS) a5 5 pmal el M) 3x 5 3x ol Jas

5x—3x—3x=-1

Aga JS (8 a5l Gjos e
5x—6x=-1
-x=-1

-1 e Gkl andi A —x Gl s s sl x 2 58 Y]

—x -1
= — x=1

)

-1 -1
1 a2l Al daleall xS e ages aSUly x=1 s Jall 1Y)

29



30
LHS=5x=5(1)=5 , RHS=3x—(1-3x)=3(1)-(1-3(1))=3
—(-2)=3+2=5
LHS = 5 = RHS
) Al Cils Left Hand Side Jeall jLaid) LHS

el 2l Cils Right Hand Side deall Jlaia) RHS

2. 4(2y-17)+5(3y—-8)=0
Caa sl S O (S agr Y sl gy oa Lin il
o) Y1 Sa Y
8y—68+15y—-40=0
Logi Ll aai s () I (spmall dgall 0 =40 5 — 68 =Y Jiis

8y + 15y =0+68 + 40

el
23y =108
23 o Gihll ks
23y 108
23 23

o dall (S5 sl

108
23

ity JS 0o dplia¥) Aaleall b (o e Sl
LHD = 4(2y-17)+ 5(3y- 8)

= 8y- 68+ 15y- 40

30
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108 108
=8.——— 68+15.——— 40

23 23
= 108(8+15) 108
- 23
108
= — (23)— 108= 108-108=0
23
Ohsbia cpalall (o G LHS =0 o Las g5 RHS=0 4l dlaleal) b
miaa Jall
3. 6[]3y—2(y—1)]-2+7y=0
).\a.ml\u.u)d\tﬂsa
6[3y—2y+2]-24+7y=0
S e ol iy
18y —12y+12-2+7y =0
aeailly

13y +10=0
110 gl 45, i e el dgall ) 410 2l Jas
13y =-10
13 a5 owidl Jalae o bl anss
13y -10

13 13

A dall S patds

31



32
ety y IS oo dplal) daleadl & (i gen oSl
LHS = 6[3y—2(y—-1)]- 2+ 7y
=18y —-12y+12—-2+7y

— 18— 12220 719 0
B 13 13 13
—~10

= —(18—-12+7 10
13( +7)+

~10
= —5(23)+ 10=-10+10=0

gesa Jall 13 LHS=RHS=0 13

J stiall asd) 3 HLE) juid Al 54 g @\.u Uas
s A g (e

4. Lxrs5=1x47
2 3

3x+30=2x+42 , 3x —2x=42-30, x =12

Kl
12
LHS = 7+ 5=6+5=11

12
RHS =?+7=4+7=11 , LHS = RHS

—2x=2-1Z

2 8

32



33

4x —6x=16—x , 4x—6X+Xx=16,—Xx =16,

x = —16
- 3
LHS = ——~ 2(-16) = —8-3(-4) = —8+12=4
—16
RHS=2— ——= 2+2=4  LHS = RHS
6.2x+§=6"3+1 Cbx+1=6x+1

O ol daia o Aaledd) () g1 Ga¥) Cahall ands g ) okl ) LaaY
Jstall (e Aled Yo aa g gl Ja 58 22e

7. 7(x—6)-6(x+3)=5(x—6)— 2(3+2x)
7x —42 —6x —18=5x —30—6 — 4x
x—60=x—-36 , x—x=60—36, 0=24

o led Gl Adladl G Fm M s 35klA 0=24 ske Jllay
ot Aalae Loadl (a1 Caplall g s Alalae 8 ua) Calall (o (o

O sie Gpastivaall (03

ASJMLIAJLA@_\:UJA):}YLS\

g x+2x—1_ 3x + 4
) 3 4

6x+4(2x—1)=3(3x+4) , 6x+8x—4=9x+12

33
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6x+8x—-—9x =12+4, 5x=16 , x = —

5
16 16 32—-5
LHS_?+2(T)—1 16+( E )_8+27
2 3 10 3 5 15
8+9_ 17
5 5 5§
RHS = 3(5)+4 _Eth _asv20_ 68 _34_ 17 ,
4 4 20 20 10 5
LHS = RHS

3(x—2) 2x+3 4x+1
9. + =
5 6 9
3gall maea s o) ) Sl e paliill 90 2381l 3 gaall paen iy
( laidl) JS o yuia Joalay

+ 2

3.18(x —2) + 15(2x 4+ 3) = 10(4x + 1) + 180
54x — 108 + 30x + 45 = 40x + 10 + 180

54x + 30x — 40x = 10 + 180 + 108 — 45 ,
253 2311 23

Mx =253, X= T AT T

23 23 23
LHS = 54—~ —108+30 —~+ 45 = — (54 +30)- 63

23
=7 .84 — 63 = 23.21 — 63 =483 — 63 = 420

RHS = 40% + 190 = 10.23 + 190 = 230 + 190 = 420

34



35

LHS = RHS

2(x+3) (x—3) 5S5x+2
3 4 6

3saall aen pear 5l ) Sl e paldill 12 2081l 3 g0al) aren e
(Ll JS o pm Jealas

10.

24(x+3)-3(x—3)=2(5x+2)- 48
8x +24—-3x+9=10x +4 —48

8x —3x—10x=4—-48—-24—-9 , —5x = -77,
_ 77 _ 77
-5 5
2(g+3) ¥—3 2(77J5r15) 77515
LHS = — = -~
3 4 3 4

184 62 184 31 1840—-465 1375

15 20 15 10 150 150
55
6
577 _
RHs = 2542 _ 4 =79 _ 4 79724 _ 55
6 6 6
LHS = RHS
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2(1—x)+ 4(5x+1)=24—-2(x+1),
2 —2x+20x+4=24—2x—2

—2x+20x+ 2x=24-2-2—-4, 20x=16,

16 4
Y= 20" 5
4 4
LHS_1_§+5§+1 5_4+5_ 1+5_51
4 2 20 2 20 2 20
I 205+1 s+l 445
B 8 4 20
_ 60-9 51
20 20
LHS = RHS

12. If an integer number is increased by 15, the result is half
the original number . what is the number ?

sl Lol saell Caial (s sl 8l 8 15 laia romasa 220 3 ) 1)
£l

Caai g b il b x+15 1 15 e 2313 x 8 2l o i
Ol 957 X

36
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1 =x+ 15 15 = 1 15—1
2x—x , =X 2x, —Zx,
x = —30

13. Find two consecutive odd integers such that three times
the smaller one exeeds two times the larger one by 7.

DSV Cara e a3 e ) JEGT AN o Cuay Cpanliie a8 dae aa ]

’7J\JSA.7

s S ol ) gl aaal) € x s sraal) sl daal) o Lo
2(x+2) g\)ﬁy\umucm)a3x g\MY\du\Lmj X+ 2
Ol sl 7 4l Glias LSV Canaa (5 gy ) QLT 8336 of 51 7 laiay

3x=2(x+2)+ 7, 3x=2x+4+7,
3x —2x =11 , x =11

11+2= o8 oaa Al o Al daal) (S8 11 58 al! A 2l 1)
13

Ll Gl 2 jlaiay 4l e 3y 3 ae IS Argliiall 405l dlac) 8
Al daa g 30 alae DU

14. If the width of rectangle is 5 cm more than one-half its
length and the perimeter is 46 cm . what are the dimensions of
the rectangle ?

46 55k Aama s an 5 )l 4l sh Chual e 3 5 Jilaliss (e (IS 1)
¢ (Lasdls dshll (sl ) dabrinsdl sl ale | an

(505 el Y Ul sl Uk W x 3 im el o L 51 aa
Tia u.uS:d\
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5 2 Jshll Ciai 5y x/2 Jshll Caai S8 x g8 Jshll o g @
Jshll G 5585 x/2 + 5 (st sl O (sl bl (e (g sy
o L;\.i:ag;d\ Lﬁjbgu.b)al\a_'qmi\j

1
2x+2(5x+ 5)=46 , 2x+x+10=46, 3x
=36, x= 12

skl Caal (5 by (el 5 6 (s st Jshll Caaiy 12 (5 sk Jshll 1)
6+5=11 s paall ) 51 5 2905

15. A father is three times as old as his son now, but 15 years
from now he will be only twice as old as his son now at the
same time . How old are they now ?

Y e gaean OY) e A 15 a4 e JUT AU OV 6 jee

OsS W15 a5 3x OV Y e oSd x OV YY) e O ks
e Cania Y jee 55Sas 3x+ 15 @Y e OsSuy x4+ 15 oY) e
! 4

3x4+15=2(x+15) , 3x+15=2x+30,
3x—2x=30—-15, x =15
3.15=45 YY) jee g w15 YY) ee 1)

16. Find a number such that 10 less than two — third the
number is one — fourth the number .

3220 a5 (5 sl 10 Gl 2aall B ()] sy 23e 2a

OSSE X (gl 2l ()i
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10_1 2x X 8x 3x_ 0
3% — 3 3T T T 12T

>X _ 10 5x =120  x= 220 _

7 -

17. Find four consecutive odd integers so that the sum of the
first three is one more than twice the fourth .

OsSas X+ 4 G sSs x+2 QA 0S8 x s JY) aaedl G
5o JY) AU ¢ sene sSas X+ 6 &N

2(x+6)=2x+ s e Sy X +X+2+x+4=3x+6
OsSas 12

3x+6—-—1=2x+12, 3x—2x=12-6+1,
x= 7 , 791113

18. Find the dimensions of a rectangle with perimeter of 54
meters , if its length is 3 meters less than twice its width.

4a e Chmn e Jhalsh SN i 54 4l Al Jalaid) syl 2a
ol 3 laday

2% - 3 ssbn Adsh 5Sas 2x Anm e Chmia (S5 x Adae O paUd
4ia g
2(2x — 3)+ 2x =54, 4x—6+2x =54,
6x =544+6, 6x =60, x=10
2.10-3=20-3 =17 dsh 5555

39
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19. The sale price of camera after a 20% discount is SR 72 .
What was the price before the discount ?

OS I  db) 72 58 Whiad (0 %20 mad 2 geai AV (ddall el

X— A paddill an s jeu 05y X b il J8 W e o) =i
4y Xx—20%x=72 Ol ¢l 20% x

20
—20% x =72 _ =72 —x=72,
x hx X7 To0* 100~
_ 720 _
X = 8 =

sl 858 dada (2.2 ) Gl

In Exercises 1 —4 , rewrite the following intervals in inequality
notation and graph it on real number line .

i e Lpaw )l 5 cliliiall dapay 40Y) <l il S aef 4 — 1 ol 8
Laaal) alacY)

1.[-10,7]= -10 <x <7

2. (-4,12) = -4 <x <12

40
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T

-12 -10 -8 -6 -4 -2 0 2 4 6 8 10 12

In exercises 5 — 8 rewrite in interval notation and graph it on
real number line .

o lean ) 555l dapa A AUSH ac] §— 5 (pjladll b
Ldsall alacy) La

5. —3 <x<9 =(-3,9]

1 L el |
BEERSEREEENE

|
12 -1 -8 6 -4 2 0 2 4 6 8 10 12

41
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7. x < —8 = (—o,—8]

-12 -10 -8 . -

6

4 -2 0 2 4 6 8 10 12

8. —7<x<11=(-7,11)

) I~
S
- -8 -6 10 12

-4 -2 0 2 4 6 8

In exercises 9 — 14 graph the indicated sets and write it as a
single interval, if possible.

Sl () Ban 5 yiS Lei€l 5 Amall Cle ganall aw)) 14 — 9 Goladll B
celld

42
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9. (=5,5)U [4,7]=(-5,7]

o Laadlad) Juals ld o il o AS jlla palie a g IS 1) ala3y) 4
Ol Aoy gaae Cp SV aaad) gl ) 5yl

e ga2e o sal) aall Liileds 7 8 5 57 o SY) ol L
5 5 -5 54 (m yal) aaell Ly gl

Y4l AS jife yualic Legin aa g ¥ 13 Ll (g 581 pa alac Y 32
daa) ¢ 5 yiaS Alan) AlS Ky

- - -6 8

4 2 0 2 4 6

v

10. (=5,5)Nn[4,7]=[4,5)

Lagadalsi Juals & 0 yiall u 4S jide yualic as g S tkuﬂ\@
Ol Al sane G el dasll Lgilay ) 3l s

e e On S ol Lilely 5 8 5 57 On ) sl
4 & -5 54 O SY) 2l s )

O84S jide ealic Lagin an s Y OIS 13) Ll (g g8l ae 2lac ) 32)

LAY de gandl g Lagalalis

RN N N T N O TlOI N
e

12 10 8 -6 4 2 0 2 4 6 8 10 12

11. [-1,4)Nn(2,6]=(2,4)
A
R

12 10 -8 6 4 2 0 2 4 6 8 10 12

10 Gibd) cpaill Shail adalss
12. (—o,-1)U[3,8)

43
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skl saal g3 S AtV UK S Y AS jiia palie legin aa g Y
9 &) Gl

13.[2,3]uU(1,5)=(1,5)

0 2 4 6 8 10

-12 -10 -8 -6 -4 -2 12

1 s oiledll G saa¥) 23l g5 e cpladl G 5SY) aaall SN A
(1,5) eddiinicsana 2 [2,3] ol baY 9 il kil

14. (—0,1)N(—4,0) = (—4,1)

10 A8 Gl o paill il adalss

v

In Exercises 15 — 26 solve and graph the following inequalities .
AV Sl av s da 26 — 15 uoladll B

e dandll ¢l G juall die adl CadERY) Jasd calaal) Ja Jie bl Ja
Aliall 3 La) slad) s calls 2o
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15. 7x -9 < 3x+ 12
L] iy el dgadl () -9 aaall a5 L JLE] yriy (5 el dgadl I 3x Jaw

21
7x —3x<124+9, 4x <21 , X<T

x < E=(—oo, E)

4 4
Lgibany ) sl S 13) A8 i 5310 puai 5yl A9l sy die | 5yl o3 dlae Yl lad e anl (V)
Leilay | osill (IS 13 haiaa B yila quai g

OsSE ALgYW Jay (o o) 585 Lavie Ll [ Gl 51 (asill o Ja 5l Aled aney ie Jially
G Al OsS Larie 5 Cpad) A ady aga 4lled (05S55 Gaadl ) iy aiss e B ke anll e
o pg Aled 05855 Jland) ) ey e (e 3 ke an )l Al S8 YL (il 3 )
AL e g )l Hlail Ll

10
16. 4x+8 >x—2, 4x—x = —-2—8 , 3x =2 —10, xz—?
- 10 10
—_—_— = —_ — 0

Sacylhaa e 5yl 038 an ) oY)

17. 2(x—-3)+ 6 >25+2x , 2x—6+6 =5+ 2x ,
2x>54+2x ,2x —2x>5,0>5

no d;A;ﬁYMi@g\&j@MJpBJ@oSAJSQAJ.}Si)é..aOi_.aGg_U‘\d;J\OiL;Y
solution

18. —4<3x+6<4x—-5

Ja A dass sl 5 a1 Cahall (8 x el s g 40l Lay g Asiall 8 b sl g Ja s O¥) Lia o Taa Y
end & e Caylall 5 Jans gl (g A oSl Al Ja a3 Jas g 5 a1 i plall (e 40 Sl Al Y
sasl g3y L clal)

3x+6<4x—-5, 64+5 <4x—-3x, 11 <x,

45
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x=>11

10
—4<3x+6, —6—4<3x, —10 < 3x, —?<x,x>——

10 10
x =11 and x > -3 =[11,00)n(— ?,00>=[11,00)

dac¥ a3yl o3 auyl OV

19.-2 <3m—-7<15, —2+47 <3m <1547, 5<3m <22,
5_ 22
3="%73

A5 5L3) e o e ikl ) - 7 daal) Ji s aum)

5< <22_ [5 22)
3="S73 7 [3°73
sae ¥l e 3yl o3 an ol oY1
y—3 y
200 ¥—/——— 2 > =42
4 3+

Cqu‘)}ug\wuauﬂlzddﬂbJjM\@m;uM
3(y—3)— 212 > 4y +2.12 ,
3y—9—24 >4y +24, —9—24—24 >4y—3y

, -57 >y, y< =57 = (—0,=-57)

21. Z_ 4 >m+4+ 2
7 3
it )9Sl e paldill 27 2081l 3 gal) aes o ias
3m—84 >7m+ 28+ 42,
—84 —28—-42 >7m—3m

— 154 77
>m, m<— —

. —154 >4m |
mn 4 2

46
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77 77
m< - = (—e,- )

3
22. —12< Z(Z—x)S24,
—48 <6—3x <96 ,-48—-6 < —3x <96—-6

38l (e paliill 4 2321l 3 gaal) aues e

— 54 90
, —54<—3XS90,_—3>XZ__3,

18 >x = —30

il @l HLa) oladl Uyt @A -3 calldl aaedl e Liand 4

,  —30 <x <18=[-30,18)

2
23. 24 < §(x—5)<36,

72 <2x—-10<108, 72+10 <2x <108+ 10

, 82 <2x <118, 41 <x <59 =[41,59)

2
24, 15S7—§xS21 ,75 <35 —-2x <105,

75—-35 < —-2x <105-35

D8l e paliill 5 aaally 2 gaall asea g
,40 < —2x <70, —20>x > -35,
—35<x < —20=[-35,-20]

bl @l L) oladl Uyt @A -2 bl saall e Liand 4um)

2x 1 2x 3
25.?— (x—3)S?—E(x+2), 12x — 15x + 45 < 20x — 9x — 18

2
03mS) (e Galill 30 2210 2 gaall aaes i

47
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—3x+45<11x—-18,-3x—11x < —18 — 45

,—14x < — 63

2x< —9 ,2x =9 >9—9 )
— — —=|=, 00
,—2X ,2X , X > 2

uw\ oladl Uy SUA o1 Q) sl 3 gaall C:LAALLI‘).AA

X

26 2(x+7)- 2> 13-4
SR 4”2 )T e

BYNCN|FEPRERA EN11 B [y R FIKPLEN [P SVEQUER T
8x +56 —-3x>18 — 6x + 2x,

8x —3x+6x—2x>18—-56 ,9x > —38

S 38 ( 38 )
—_— — — — o0
X 9 = ’

68 4ada (2.3) Cuiida
EXERCISES (2.3) <<l &

*»

page 68

In Exercises 1 — 10 solve the given equation.

Slasall daladll U 10 — 1 Cpotadl) =
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1. |[2x + 6| =10
2x+6 =10 or 2x+6= —10

2x=10—6 Or 2x=-10—6

2x =4 Or2x = —16
_ 0 _ 16
x—2 rx = >

X=2 or x=-8

The solution setis {2,-8}

-21
2.-3|x+5|+ 6= —15, —3|x+5|=—15—6=—21,|x+5|=_—3
5= =7
X =37
X+5=7 or xt5=-7
X=7-5=2 or x=-7-5=-12
The solution setis{-12,2}

3 2|3 k|+1— 5 2|3 k|— 5-1= 6|3 k|—_6—3
' 3 - 3 - 3l -2

3-2=3 or 3-7=-3
9—k=9 or 9—-k= -9
—-k=9-9=0 or —k=-9-9=-18
K=0 or k=18

The solution setis {0, 18 }

21

4, |7-3x|=2x+5 , 2x+5=>20,x>— =-=—25

N
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225 st sl e ST x Al osS ol sa Jall byl

7—-3x=2x+5 or 7-3x=-2x-5

7 —5=2x+3x or 7 +5=-2x +3x

2 =5x or 12 =x
x=2>-2 o x=12>-2
5 2 2
X el Giae Jall Ja 5 13
the solution set is {3 ,12}
5
5 2x+3|=x—-1, x—1 =0, x=>1

123l (gsb ol (e ST x Al (sS Of s Jall bl

2x+3=x-1 or 2x+3=-x+1
2x—x=-1-3 or 2x+x=1-3
x=-4<1 or 3x=—2,x=—§<1

no solution Ja x5 ¥ 13) Cpiieadl) (yiiled (38aa ye Ja il

6. 3x+5|=2x+6, 2x+6=20, 2x2—6,x2_76=—3
3x+5=2x+6 or 3x+5=-2x-6

3x—-2x=6-5 or 3x+2x=-6-5

x=1 or 5x=-11

x=12= -3 0rx=—%=—2.22—3

the solution set is { — % ;1 }

7|1 +5|—1
13Y T8 T

50
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15, 1S
37767 o YT T

6 2321l 3 gaall paes iy

2y+5=6 or 2y+5= -6
2y = 6-5=1 or 2y=-6-5=-11
1 1
}’—2 or y= 5
the solution set is {l,—E}
2 2
2 2
8. |—3(2x+5)|=§x—4 , §x—4 >0, 2x =12, x =6
2 2
—3(2x+5)=§x—4 or —3(2x+5)=—§x+4
9(2x+5)=2x -12 or -9(2x+5)=-2x +12

-18x—45=2x-12 or -18x—-45=-2x+12
-18x—2x=45-12 or -18x+2x=45+12
-20x =33 or -16x=57

a2 Y AN 6 e ST x 0S5 o oo Jall o pall Lai bl () Siu X alf of JaaY

9.

x—4
=0
2

=8 or = —8

The solution setis{-12,20}

10. 3.|x—-5|-16 =2, 3.]x-5|=2+16=18, |x=5]=6

X-5=6 or x—5=-6

51
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X=11 orx=-1

The solution setis{-1, 11}

In exercises 11 —20, write the solution set of the given inequalities in interval
notation

3 yill drpa 8 Blasall Cililiiall Jall de gane Sl 20 - 11 Gl b
11. [3x—11|+ 6 <9, [3x—11] <9-6=3

—3<3x—-11 <3, —-3+11<3x<3+11

8 < 3x < 14 8 _ 1 _|8 14

SRS, 33X T30
4y+5 1) 7
12. S
| 3 21 =6
7 4y+5 1 7
6 3 2 5%

—7<2(4y+5)—-3<7
—7<8y+10-3<7
—14<8y<7-7

7< <0—[
4_}/_ B

AN

0]

13. /(3m+2)? <5, |3m+2| <5

—-5<3m+2<5, —5-2<3m <5-2

7< <3_< 71)
3 SMS3 = 3

VaZ = x| =Y

52



14. J(3-2x)2<4, |3-2x|<4

53

—4<3-2x<4, —4—-3<-2x<4-3
7<—2x <1 ARG

X , _Z_X__z
7> - 1 1< <7_[ 7]
2=%¥= T3 T == T 2
|3—2x|=|2x—-3]
[2x —3| <4, —4 <2x—-3<4
—44+3<2x<4+3, —-1<2x<7
1 7 1 7
—<x<-=|-2,=
2 2 [ 2 2

15. V(2 =7)2 > 11 ,|12-7t| > 11, |7t —-2| > 11

7t—2>11 or 7t—2<-11

7t > 13 or 7t < -9

t>13 t < 2
7 7

16, M 3.9

"5 2714
4|x|+30>45, 4|x| >15,
15 __15
x_4 or X = )

- 15
HES:

53

Alda

blE and 5 23 or Y

20 3l il
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17. ‘6(1: - 32)‘ < 40

5
—40 <§(F— 32) <40 ,—360 < 5F — 160 < 360

— 200 < 5F <520 , —40 < F <104 = (—40,104)

18. 0 < |2 y+32| <31

’ +32=0 = 325— 160
5y - ) y_ '9_ 9
el oy 1)
’ + 32| <31 * 160
I5y I Y 3
9 9
—31<§y+32<31, —31—32<§y<31—32
63<9 < -1 5( 63) < <5 1
35 < v < 5_( 35 160)U( 160 5)
YST9 = " g 9 ' 9
160~ 17 .778
g = )
19.-2|x|—-2>4, —2|x| >6 , x| < =3
Ndaamay
x| =0
20|X|+3>4
"5 29

90 22l 3gaall pes iy

54
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18|x| + 453 >40, 18|x|+ 135 =40, 18|x| = 40 — 135 = —-95

95 95
x| >—=, |x|=0> — =

18 18

95

>—= = (-
x|z -3 = (-, ©)
. X - m = " " -

21. Inequalities of the form |T < n occur frequently in statistics if m

=455,s=3.2and n =1, solve forx.

Mm=455 <l 13 slasyl ) eink aa s |X‘m| <n JSEN (pe ciliiall
- S

x J Aol dilidl Jad =1 5 s=3.2 :

|x—45.5|<1
3.2
x —45.5
-1< T<1' —32<x—-—455<3.2

—32+455<x<32+455

423 < x <487 = (42.3 ,48.7)

22. The daily production p in an automobile assembly plant is within 20 units of
500 units . Express the daily production as an absolute value inequality

WY e pe | Aadladan 3 500 JS a5 20 52 (A 9 Dlje mead piad p el Y
Al Al 8 AU (a5

500 — 20 5 500+20 o 7 sl sk p oesdl) Y o (g
ol

500 — 20 < p < 500+ 20
i (Abiall da (pSe ) Lasdll g Gkl - 500 4dlaly

—20<p—-500<20,|p—500|<20
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Qusll 487 986 4ada ( 2.4 ) il
EXERCISES (2.4) page 86, 87

b Ly s Jalatlly 2l a5l Alslas Jal
s Al 3 ) guall & Aalaal) (S5 -1
ax’+ bx+c=0

b 2l (g b Legran Jualas ¢ 5@ (paaall @ pia Jials (g sk bags pia Jaals (paxe (e Eai -2
(Lol dlac )

m sn La Labaag il sl of (o 88 -3
@l mx +nx i bx Ja sl paandl cda AV Aslaal) LS 3 -4
ax’+ mx +nx+c=0
ax’*4+ nx +mx+c=0
Zaa < sl 8 Dlann cpllall DS ags ¥ Lia s il

C):’JAMO:‘-.‘J‘ c, nxw&;ﬂ\uyd)m&b_)ﬁ\j axz' mxw&\uyé)m&bﬁ\h_s
c, mx el gms ax?, nx

cplale @y Jala ) Asladdl J s Gung o jilie Jale 340 (Say adl aate 480 5 shall (-6

72 Aada QU A Jglaall JUE) st 1 JUa

6x>— 19x—7=0
c=-7 5 b=-19 5a=6 < Luldl 5 sall & dabadl

a.c=6(-7)=-42

— 19 gz duala g - 42 legpin Juals (oo 5
Gl AV 5 o e Lanaal 13 il o puall Juals
G sl 222l e ST L) aaall dalaal) Al 1Y) il aandl Juals
2 5 -21 L pailadl) a3y cpasall o el 1l e
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7l
6x2—21x +2x—7=0
23.x.x —3.7.x +(1)(2x—-7)=0
3x(2x—=7)+ (1)(2x—7)=0
Gl dide ddle gal (2x=7) of LY
(2x—=7)(3x+1)=0

Laaaad J8Y) e 13 jiia 5 sy Laga i daaals (glaae T3 dae Ll (3x+1) 52 (2x=7) oY

@l i sl
2x—7=0 or 3x+1=0
2x =17 or 3x = -1
1
x=3 or x= -3

[N
Wl
N —

the solution set is {2 Pl

o) Qusll i 73 daia related problem(2) dabeall Jaias : JUie
2y?= =5y +3

E - 5y cpaadl Jay Gl Al daual ‘é@u%&ﬂ@bﬂ\mﬁw \‘_g&_m.d Al ddalaall
Logiy W) ot e omall 4l +3

2y?+ 5y—-3=0
a=2 , b=5,c=-3 , a.c= -6
5 Legran Jualay - 6 Lago pn Juala (Jhaae
s HAY) 5 o oo Laaaal 1Y) @l G pall Jeals
Ll 2aell dallaal) el o ST Can sl 2aall 1Y) 50 paa) Jialas
—1 56 L gl Gl a5l (1
2y?-y +6y—3=0
y2y—-1)+3(2y—-1)=0
(2y-1)(y+3)=0

2y—1=0 or y+3=0
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1
2y=1,y=§ or y=-—3

1
the solution set is { > ,—3 }

In Exercises 1 —4 , solve the following equations by factoring.
Jalailly 45Y) SVl Ja 4 — 1 Gl 8
1. x2—2x —3 =
a=1,b=-2,c=-3 ,ac=-3
15 -3 L cpaall o sl ol (e
x2+x —3x—-3=0
x(x+1)—3(x+1)=0
(x+1)(x=3)=0
X+1=0 or x-3=0
X=-1 or x=3, the solutionsetis{-1,3}
Kl
(-1)2=2(-1)-3=142-3=0

(3)2-2(3)-3=9-6-3=0

2. 2x% =8x , 2x>—8x=0,2x(x—4)=0
2x=0 orx—4=0 ,x=0 or x=4

The solution setis{0, 4}

3.3w2+ 13w =0 ,w(3w+13) =0

13
w=0o0r 3w+13=0,w = -3

13
the solution set is { 0,— ?}
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4. m?* —-25=0, m*-52=0, (m-5)(m+5)=0,
m—-5=0o0orm+5=0, m=5orm= -5
The solution setis{5,-5}

a?— b?=(a—b)(a+b) ¥

In Exercises 5—8 , solve the following equations by completing the
square.

ol JLsL A c¥aladll s 8 — 5 o jlaill A
5.2+ 4y—-3=0, y*+ 4y=3

4l y Jalas caai e ikl ) Cuai (Y
y2+ 4y +4=3+4+4, y*+ 4y+22=7

JSi) (e gf LS pa 3a ) Gkl sl Y

a’+ 2ab+b?>=(a+b)?, a=vy,b=2
(y+2)2=7, J(y+2)? = £V7
y+2=1V7,y=+V7-2
y=vV7-2 ory=—-V7-2=—(V7+2)

The solution setis { V7 — 2, —(V7+ 2)}

6. y2— 4y +1=0, y2— 4y = —1
4l y Jalas caai g ye ikl ) Cauai (Y
yi—4y+4=-14+4, y*>— 4y+22=3
JSi) (e gl JalS p 3e a1 Gkl sl Y
a’?— 2ab+b?>=(a—-b)?, a=y,b=2
(y=2)2=3, J(y-2)2 = ++3
y—2=4vV3,y=+V3+2
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y=\/§+2 0ry=—\/_3+2=

The solution setis { V3 + 2 ,—V3 + 2 }

7 16x2 4+ 9= 24x . 16x% — 24x = —9, x2 2y -2
' B ’ B ’ 16~ 16
, 3 -9 _ 3 +(3)2_—9+ 9

YT T 16 ¥ T2 %) T 16 T 16

=3 (3) =0, (x-3) -0
X 2x z) =0, X 1) =

(= s=3) =0 (= D=0 o (5 3) =

3 .
x=, orx=o BRI
. . (3
The solution set is {Z}
8 1
8.32z2—-8z+1=0, .3z2-8z= -1, zz—gz=—§
, 8 +(4)2_ 1,16
Z73%T\3) T 7379
2 _
(z—f) :_3+E:E’ z—fzi 13
3 9 3 9
V13 4 Vv13+ 4
z=+ —+ - ==
3 3 3
V13 + 4 V13 + 4
z= ——— or z= — ——
3 3
_ (VI3 + 4 V13 + 4
The solution set is —3 B

In Exercises 9-12 , solve the following equations by quadratic formula.

y = —bEvbi-dac Vzbz—w oSl Y Vel Ja 12 -9 kel &
: :

Gl =) Y13 alill 3 5L3) it Y (5308 (& g, b, € (e gt die 4
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A 3 b ld e s discriminant  sesll b2 — 4ac el s

A = b? — 4ac
Laa uilide s cpola bl @ A> Q0 il 1))

—b+ VA —b—+A
X = and x =
2a 2a

sy o Sagaaly Aia il gb A=0 i)y

_ —-b B b
- 2a 2a
Laa 5 AN (38 ye lagia IS (S pe ol Al (6 A< 0 il 1Y)
X = —£+Ei and x = —E—Ei
2a 2a 2a 2a

8 peall il Cluall Jow a A ey Ty Ll
9. 9s* + 2 =12s
9s? — 12s+2 =0, a=9, b= —-12, c=2
A=(—12)%— 4(9)(2) = 144 —72="72>0

—-b+ VA —b—VA
X = and x =
2a 2a
_ —(-12)+ V72 4 _ —(-12)- V72
x = 209) and x = 209)
12 + /2(36 12 — /2(36
x:# and x=#
18 18
12 + 642 4 _12-6V2
X = 18 an X = 18
2 +2 2—- 2
x = and x =
3 3
, (242 2—2
the solution set is B —3
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10. x> - 4x—-1=0, a=1, b= -4 ,c= -1
A= (—4)2 — 4(1)(=1) = 16+ 4 =20 > 0

X = —b+ VA and  x = —-b—+VA
2a 2a
x= JEDHV0 g = ZERTV20
2(1) 2(1)
4 +2+/5 4 —24/5
X = — and x = —

x=2+ 5 and x=2- 5

the solutionsetis { 2+ V5 . 2— /5 }
11. n*+ 16 =0, a=1, b=0,c=16
A=0—4(1)(16) = —64 < 0

8 e (S ya oy

V=64 e
X = 5 ) X = 5
LY = —4
x—z— i , X = i

the solution set is {4i,—4i}

12. 2x2+ 10x+11=0, a=2,b=10,c=11
A=100-4(2)(11) =100—88=12>0
_ —10+ V12 — 10— V12

4 P X = 4

X

62



63

_ —10+2+3 _ —10- 243
X = 4 Ix_ 4
_ —5+43 _ —5-143
X = 2 y X = 2
, _—54+3 —-5-+3
the solution set is { > ) >

In Exercises 13 —21 solve the following equations by any method

Ak ol Ay aValadl Ja 21 - 13 cpolall B
13. (m+4)2=4, m+4=+Vd= +2
m=+4+2—-4 ,m= -2 or m= —6

the solution setis{—2 ,—6}

15
14. 4u*+ 8u+15=0 , u*+ 2u +1= ——+1
11 11
(u+1)? = —— ,u+1=igi
u:—1+iE ,u=—1—iEI
2 2
thesolutionsetis{—1+ig, —1—ig}

15. 7x%2= —4x, 7x*+ 4x=0, x(7x+4)=0

4
4
the solution set is {0,—7}
3
16. 8u?+3u=0, u(8u+3)=0 ,u=0 , u= -z
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3
the solution set is { 0,— 3 }

8 4
17. 1+ =~ , x*+ 8=4x, x> — 4x+8=0
X X

a=1 ,b=-4, c=8

A=16—-4(1)(8)=16—-32= —16 < 0

4+=16 4+ 4
YT ' 2

the solutionsetis {2+ 2i,2 — 2i }

24
+ 1

18. =
8 10 + x 10 — x

24(10 —x)+ (10— x)(10+x) = 24 (10 +x)
240 — 24x + 100 — x%2 = 240 + 24x
—x%2—48x +100=0 , x>+ 48x—100=0
A=1, b=48 , c=-100

48 Lege senas = 100 Logoyin Jusls (laxe

—2 5 50 Ll mal

x>+ 50x —2x—100=0 , x(x+50)— 2(x+50)=0
(x+50)(x—2)=0, x=2 or x= =50

the solution set { 2,—50}

192_4 1
" x—2 x—-3 x+1

2 =-3)x+ 1D =4x-2)(x+ 1D -(x—2)(x—3)

2(x%- 2x- 3) = 4(x?*-x-2)-(x*—5x+6)
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2x* —4x—6=4x>—4x—8—x*>+5x—6
—6+8+6=x%+5x

x*4+5x—-8=0 ,a=1,b=5,c= -8
A= 25—4(1)(-8)=25+32=57>0

—51v57
2

X =

—5++/57 —5—@}
2 T2

the solution set is {

20 x+2 x"N2 _ x—1

" x+3 x2-—9 3—x

SIS S T Sk P Y S Yo
x+3 x2—-9 x—3 X - x

(x=3)(x+2)—x2=x>-94+(x+3)(x—1)
x2—x—6—x*=x*—-9+x%>+2x—3
—x—6=2x*+2x—12

2x>+3x—-6=0 , a=2, b=3,c= —6
A=9 — 4(2)(=6) = 9 + 48 = 57

_ —3++57
B 4

X

—3+4+.57 —-3—-.57
4 T4

the solution set is

21. |12 + 7x| = x?
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124+ 7x=x% or 12+ 7x = —x?
x2—=7x—-12=0 or x*+7x+4+12=0
x> —7x—-12=0 ,a=1,b=-7,c= —12

A= 49 — 4(1)(-12) =49+ 48 =97

_ 7TEV97

x 2

or x>+7x+12=0
x>+3x +4x+12=0, x(x+3)+4(x+3)=0
(x+3)(x+4)=0, x=-3, x = —4

7+ V97 7 —+97
T) T,_3,_4

the solution set is {

22. Consider the quadratic equation
x>—2x+c=0

Where cis a real number . Discuss the relationship between the value of
c and the three types of roots .

Al da ) Adles e

x2—2x+c=0

A Hsdall gl gils ¢ dad G AR (L, R8s 230 ¢ Cua
A=b%?— 4(a)(c)=4—4c, a=1
4—-4c=0, 4=4c ,c=1

G ooSe aals ida jia Al 5555 A=0 OS5 =1 Leie T3
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4—-4c>0, 4>4c,1>c,c<1
Lod (pilide cpada cp i Aleall G585 ASO 0S8 <1 Leodie

_2*v4—-4c  2%4(1-c) 2+2Vvl-—c
N 2 B 2 B 2

=1++Vl—-c, x=14++V1l—-c,x=1—-—+V1-c

4—-4c<0 ,4<4c,1<c,c>1

X

Laa () yie S g ods Adlaall 6555 A<O 0SS o1 Laie

2 +J4(c—-1) 2+2Jc—1).
X = > i = > [

x=1++vc—1i , x=1+ivc—1 , x=1—ivc—-1

23. Show thatif x; and x, are the two roots of ax*+bx+c=0

c
then x;x, = — andx; + x, = — ,a# 0
a a
Asbaall oy x|, X K1Y Al maa g
ax?+ bx+c=0
OB

c —b
XX, = 2 and x; + x, = P

13 Al goods %, oxg O L
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—b + Vb2 — 4ab B —b Vb? —4ac

X1 = 2a 2a + 2a
B —b — Vb2 —4ab B —b b% — 4ac
X2 = 2a T 2a 2a
i el
L. b b _ -2 b
1T X2 = 2a 2a 2a a
i @ ally
B _b+ Vb2 — 4ac —b Vb?% —4ac
%2 =\ 24 2a 2a 2a
(a+b)(a—b)=a%?— b? iV
2
—b \? Vvb?% — 4ac
1%z :( 2a ) B 2a
B b? b2—4ac_b2—b2+4ac_4ac_c
X142 = g2 4a2 4q?2 402 a

2 2

)= (VE) =z

(

Sl IRS

24. Find the two numbers such that their sum is 21 and their product is
104.

104 Loy dialay 21 lage sene Of Cumy (e 2a
Yoo x e gpaall o (i
Y+x=21 ,y=21-x , xy=104,x(21—-x)=104

2lx —x2 =104, x*—21x+104=0
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A=441—-416=25, +25=5

—21+5— 13 0 =38
x=—to= rXx=

8+13=21 , 8(13)=105

25. Find two consecutive positive even integers whose product is 168.
168 gy Juala s (pasaias Gua s )y Gmnosa s (e (pade 2a
diay X +2 Sl oS x JVT aaell oy
x(x+2)=168, x?+ 2x—168=0

A= 4 — 4(—168) = 4 + 672 = 676,676 = 26

-2 26
x=7i7=—1i13, x=-1+13=12,x = —14

12+2=14 5 12 s Jalls age ol A Jsiie 32 - 14 224l

26. Find the base b and the height h of a triangle with an area of 8
square feet if its base equal its height and the formula of the area

is A= = bh
2

6 st 43008 ClS 1Y) Ay yo pl8) 8 alalise Cilid K gldi,Y 5 b saclall aa gl
o Aaluall () 5ild g aclas )

13) ¢ WY (g bt sacldll () Lay
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27. If a projectile is shot vertically into the air ( from the ground ) with
an initial velocity of 176 feet per second, its distance y (in feet) above
the ground t second after it is shot is given by

y =176t —16t* (neglecting air resistance)

a. Find the time when y =0 and interpret the results physically.
b. Find the times when the projectile is 16 feet off the ground .

( compute answers to two decimal places.

Al 8 a2 176 La a8 41any) de e (V) e ) Gases ol sedl (8 44,38 callaf 1))
Adlaally (a4l laiay LDl 2y () G52 (il )y Leiilaay

y =176t — 16t"2
¢ sed) da slie Jlaaly
L3 ) by y=0 Letie el angl |

Lot Y cual ) GapY B a8 16 ALN (S Laxie iV gl o
(ola

a. 0=176t—16t2, 0=16t(11—-t),t=00rt=11

SV amy Y1 Jsagall die g jiea o3l OIS e )Y e Aad) (30U Adaal
Al 11 el sed) b Ll ol 4l 11 el O

b. 16 = 176t — 16t? 1 =11t — t?, t?— 11t+1=0
11 121 — 4(1)(1 1 117 11 10.82
po By OO _ 1 V17 11 1082
2 2 2 2 2
21.82 11 —10.82
t=T=1O.91 or t=T=O.O9
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